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[H*] < [OH"] .
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OISR Aada fald ¢ AUl ¢ Hal) Jeldniy alats Lad 8
HF + HHO = HO" + F~ k.= 6.3 x 10-%
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® HCl(aq) S KOH(nq) 4 JS Jalad Jolil (e 43U 3) sall L. 11

Cl-(aq) +KH20+(aq) - KH(aq)+ HCIO (aq) ‘
HiO'oy+ KClyy .2 H.0p+ KClay (@
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¢ pH = 6.5 s 13 qulall 3 mol/ L 5155 [OH] &ad La .2

3.2x107 & 3.221° @) 5.1x107 & 4.6x10° &
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HC:H30:2 (aq + H2O )y = H30" (aq) + C2H302 ~ (aq)

g8 e HC,H,0, & H,0 52l e sl C,H,0,” sl (@)
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0.2M HNO; L3 Jylae (0 40 ML 53 13 NaOH 5 g3 guall 30y 3 Jlae dspe Lo .29

¢ NaOH Jglae (e 32 mL aled

=0.16 M



following is correct about to the reaction below? tall JoUAl) Aaidy Aaaa A 2 A §

NH,(aq) + H,0(l) = NH,*(aq) + OH (ag)

considered as Arrhenius base ey ) 558 NH, s A

considered as a Bronsted - Lowry acid Soghe iy 4 paaa H,0 ﬂ-‘—

cepts an electron pair from H.0 Hy0 O g 8 1 3 Qi NH; €
cepts H* ion in the forward reaction ) P A K Oy i H,0 D
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the K, value of 0.0091 M solution of 0.0091 M 235 55 HF &, 98 0 gaaa Jgladl K, dad
oric acid HF with a pH =2.68? ‘pH=2.68 3

HF(aq) = H*(aq) + F(aq)

= 6.23X10"-4




ich of the .following supslances iorlize qup[elely in g il Al Jlladl J.‘.la’w ol 406D gl e éi
eous solutions producing hydronium ions Hy0*?

THI0" agag agd

} l. ‘_HCI
Il. ' HCH;0,
,’III. ‘H3504
V. ‘HCIO ‘
A. land I s 1 .A
B. lland lll s I .8

G land il I[P
D. |, lland IV Vslls1 .0
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ich of the .following supslances iorlize qup[elely in g il Al Jlladl J.‘.la’w ol 406D gl e éi
eous solutions producing hydronium ions Hy0*?

THI0" agag agd

} l. ‘_HCI
Il. ' HCH;0,
,’III. ‘H3504
V. ‘HCIO ‘
A. land I s 1 .A
B. lland lll s I .8

G landlll 51 .
D. I, Il and IV V5151 .D
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he following statements is correct about the o) P Al s 4l 2 sl 1
hown below?

CH3NH,(aq) + H,0(1) = CH;NH;*(aq) + OH™(aq)

58 CHyNH; i weak and the conjugate base OH i strong L OH i iy s CHyNH, 350 A
5€ CH;NH; is strong and the conjugate base OH is weak M OH 41 ) 5y & CHNH, S5 B
n has lowest attraction for H* ion than has a CH3NH, #53 ASkias baa (1 H' (1 Wi s OH 0l C
lle of CH;NH,
uilibrium lies far to the right w1 s OV 4% D
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How many times increases the concentration
of hydrogen ions [H*] in the solution X than | e X Jsiaall A [H*Y] Oma g s Osdl 35S 5 85 5 5e a8
in the solution Y according to the figure ToLI aae 1 anaa Y J glanall
below?

X e [
solution X solution ¥

8 8

8 s 10

'
>

A. 2 times
B. 10 times

D. 1000 times
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